

## GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995

Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920

Toll Free: (800) 249-4027

Fax: (810) 767-5373 - Administration

Fax: (810) 767-3634 - Maintenance

DATE: April 24, 2023

TO: Anglin Civil, LLC

> T & M Asphalt Paving, Inc. Joe Raica Excavating, Inc. R & R Asphalt, Inc.

**Bid Tabulation** SUBJECT:

Peninsular Drive

GCRC No. 489-55-W50889

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on April 24, 2023.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc: Geric Rose, P.E., P.S. – Fleis & Vandenbrink

Brian Saad - Argentine Township

EJ

AP

RH

GG

TK

File

## **Bid Comparison**

**Contract ID:** 856820

**Description:** Cold Milling and HMA Resurfacing

Location:

Peninsular Dr Argentine Twp

Projects(s):

856820

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$306,435.00	14.47%	0.00%
1	(07529) Anglin Civil, LLC	\$267,677.00	0.00%	-12.64%
2	(01276) T & M Asphalt Paving Inc.	\$297,987.00	11.32%	-2.75%
3	(_292020) Joe Raica Excavating, Inc.	\$339,871.00	26.97%	10.91%
4	(05398) R & R Asphalt, Inc.	\$344,710.00	28.77%	12.49%

Line Pay Item Code	Quantity U	Jnits	(0) ENGINEER'S E		(1) Anglin Civil, LLC		(2) T & M Asphalt I	•
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2010001	.1 /	Acre	\$40,000.00	\$4,000.00	\$6,500.00	\$650.00	\$30,000.00	\$3,000.00
Clearing								
0002 2057002	14	Sta	\$2,000.00	\$28,000.00	\$738.00	\$10,332.00	\$515.00	\$7,210.00
_ Machine Grading, Modified								

Contract # 856820 (Peninsular Dr Argentine Twp)

MERL: 2022.11.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Anglin Civil, LLC		(2) T & M Asphalt F	Paving Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0003 2080020	9	Ea	\$100.00	\$900.00	\$150.00	\$1,350.00	\$125.00	\$1,125.00
Erosion Control, Inlet Protection	n, Fabric Drop							
0004 4030004	9	Ea	\$1,300.00	\$11,700.00	\$725.00	\$6,525.00	\$1,525.00	\$13,725.00
Dr Structure Cover, Adj, Case 1	, Modified							
0005 4037001	17	Ft	\$400.00	\$6,800.00	\$600.00	\$10,200.00	\$300.00	\$5,100.00
_ Dr Structure, Reconstruct, Ad	d Depth, Special							
0006 5010002	3,680	Syd	\$6.50	\$23,920.00	\$3.00	\$11,040.00	\$5.50	\$20,240.00
Cold Milling HMA Surface								
0007 5010005	3,120	Syd	\$7.00	\$21,840.00	\$4.00	\$12,480.00	\$6.35	\$19,812.00
HMA Surface, Rem								
0008 5010033	1,275	Ton	\$125.00	\$159,375.00	\$145.00	\$184,875.00	\$113.00	\$144,075.00
HMA, 13A								
0009 8070095	15	Ea	\$100.00	\$1,500.00	\$175.00	\$2,625.00	\$300.00	\$4,500.00
Post, Mailbox								
0010 8127051	1	LSUM	\$25,000.00	\$25,000.00	\$2,600.00	\$2,600.00	\$45,650.00	\$45,650.00
_ Maintaining Traffic, Special								
0011 8167011	700	Syd	\$6.00	\$4,200.00	\$10.00	\$7,000.00	\$12.00	\$8,400.00
_ Turf Establishment, Performa	nce							
0012 8230431	7	Ea	\$600.00	\$4,200.00	\$1,000.00	\$7,000.00	\$950.00	\$6,650.00
Gate Box, Adj, Case 1								
0013 8257050	10	Ea	\$1,500.00	\$15,000.00	\$1,100.00	\$11,000.00	\$1,850.00	\$18,500.00
_Adjust Sanitary Sewer Manho	le, Special							
Bid Totals:				\$306,435.00		\$267,677.00		\$297,987.00

Line Pay Item Code	Quantity	Units	(3) Joe Raica Exca	avating, Inc.	(4) R & R Asphalt, I			
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2010001	.1	Acre	\$5,000.00	\$500.00	\$50,000.00	\$5,000.00		\$0.00
Clearing								
0002 2057002	14	Sta	\$3,300.00	\$46,200.00	\$2,000.00	\$28,000.00		\$0.00
_ Machine Grading, Modified								
0003 2080020	9	Ea	\$125.00	\$1,125.00	\$300.00	\$2,700.00		\$0.00
Erosion Control, Inlet Protection, Fal	bric Drop							
0004 4030004	9	Ea	\$1,500.00	\$13,500.00	\$2,500.00	\$22,500.00		\$0.00
Dr Structure Cover, Adj, Case 1, Mo	dified							
0005 4037001	17	Ft	\$600.00	\$10,200.00	\$250.00	\$4,250.00		\$0.00
_ Dr Structure, Reconstruct, Add De	pth, Special							
0006 5010002	3,680	Syd	\$6.20	\$22,816.00	\$4.25	\$15,640.00		\$0.00
Cold Milling HMA Surface								
0007 5010005	3,120	Syd	\$6.50	\$20,280.00	\$8.50	\$26,520.00		\$0.00
HMA Surface, Rem								
0008 5010033	1,275	Ton	\$130.00	\$165,750.00	\$138.00	\$175,950.00		\$0.00
HMA, 13A								
0009 8070095	15	Ea	\$150.00	\$2,250.00	\$250.00	\$3,750.00		\$0.00
Post, Mailbox								
0010 8127051	1	LSUM	\$20,000.00	\$20,000.00	\$14,500.00	\$14,500.00		\$0.00
_ Maintaining Traffic, Special								
0011 8167011	700	Syd	\$15.00	\$10,500.00	\$12.00	\$8,400.00		\$0.00
_ Turf Establishment, Performance								
0012 8230431	7	Ea	\$250.00	\$1,750.00	\$2,000.00	\$14,000.00		\$0.00
Gate Box, Adj, Case 1								
0013 8257050	10	Ea	\$2,500.00	\$25,000.00	\$2,350.00	\$23,500.00		\$0.00
_Adjust Sanitary Sewer Manhole, S	pecial							
Bid Totals:				\$339,871.00		\$344,710.00		